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[ I=(f(x)=6x+1)]
2=(f(x)=12x%)
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Diff02 Answers for No.9197
[ I=(f(x)=4x-3) ]
2=(f(x)=9x%)

6
3= (f(x) = —;J

2
.4={f(x)= (2/3)J
L 3x i

d=(f(x)=4x-3)
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1=(f(x)=2x-3) |
2=(f(x)=6x")

5
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X
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for No.9449
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[ 1=(f(x)=8x-2) ]
2=(f(x)=15x%)
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[ I=(f(x)=2x-2)]
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6
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1
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1 =(f(6)=540) B
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[ I=(f(x)=2x+4)]
2=(f(x)=6x")

4
3= (f‘(x) = —;]
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5
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2
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1=(f(x)=6x—4) 2=(f(x)=6x")
3=(f(x)=21x"—10x+2 s=| =26 3xes g
3=(f(x)=21x"-10x+2) A= f(x)=7x —3x+7 N
1 1 3 ! ! 2 o
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Ans3 = 7=(f(x)=22x+18x>+13) .8:(f’(x): [J S ¢
24/x t
g [f() : j 0= pay - 223 :
9= X)=—"_  _ . = X)=""73,5
(2x—-1) 257" ]%
305 +6x —10x—6 3x'—14x"-43x*-20x-30 U
d1=|1f(x)= ” d2=|1(x)= 2
i X (x-5) | LT
2
T

X [Page = 0012] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XX XKKKKXXXXKKKKKKK XXX XXX KKK KKK KKK KKK KKK KKK KKK KKKKKKK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXXXXX XKL XXX KKK KX KKXL XKL XKL LKL KKK XKL KKK XKL KKK X KKKKKKKKKME6/1-6500506-00013XX

Diff02 Answers for No.9854
[ I=(f(x)=4x+1)]
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[ 1=(f(x)=2x-3)]
2=(f(x)=9x")

2
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Diff02 Answers for No.12586
[ I=(f(x)=8x+1)]
2=(f(x)=6x")

3
3= (f‘(x) = —;]

2
.4=(f(x): (2/3)j
L X i

d=(f(x)=8x+1)

Ansl =

, , AnSZ:[

3=(f(x)=21x"-30x"-16x"-1)

A3 =1 7 (f(x)=24x 1 18x + 1827~ 6)
A
I=t(x)=-""73

(5x-3)
32x°+30x° = 12x-30
A1=|f(x)= 3 i
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1 =(f(3)=135)
2=(f(1)=-12)

}, , Ans4 :[

1=[f(4)=-2]
2=[f(-2)=2431]

2=(f(x)=6x")

2 5
S=| P =-G g -3 6=| P(x) = +
{ 7 26] ( 67" 6

25 , 8 1
A=|f(x)=—"x —-Tx+~
2 376
1 5 1 6 J
x(1/6) 6x(7/6) 5)6(11/5)
—3x+1+4«/;
S=|f(x)=- ’
24/x
P (f() 5(1+3x2)J
A0 = xX)=—" =
24/x

15x°+34x° —53x* —16x°
(x—1)
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Diff02 Answers for No.l1l2677

[ I=(f(x)=4x+1)]
2=(f(x)=12x%)
( 5] 1 =(f(3)=54) [ = [£(1)=3]
_| 3=|f(x)=——> - - =l N
Anst = (O==2) . Ans2= .2:(1"(2):53]’ ’ A”S4‘[2=[f(2):2349]}
1
.4={f(x)= (2/3)]
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Diff02 Answers for No.13490

[I=(f(x)=4x+4)]
2=(f(x)=9x")
5 1 =(f(3)=108) ]_[f | _1_5}
Ansl = .3:(f‘(x):——2] , , Ans2= ( E], , Ansd=|"" ( )_2
X 2=|1(3)=
| 27 2=[f(2)=165]
.4={f(x)= (2/3)]
L X J
| d=(f(x)=4x+4) 2=(f(x)=9%%) |
3=(f(x)=6x —6x"—3) 4=(f(x)=x"-x)
5 2 4 o5 s
S= f(X):3+—2’\/;+x(3/2) 6= f‘(x):—sx(g/s)—sx(6/5)+ 1 —4x(9/4)
3x+84/x =5
Ans3=|.7=(f(x)=16x"+75x>+34x-10 .8=(f‘ = J ,
ns (f'(x) X +75x +34x ) (x) 2«/;
(7/2) 5
9=(f(x)=—Lj 10=[f(x)=3x (B _6)J
' (4x—5) ' 2
( —2Ox2—26x—6J ( 20x6+144x5+225x4—110x3—180x2J
A= f(x)= p d2=|f(x)= :
i X (x+4) |
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Diff02 Answers for No.13500

Ans3 =

[Page = 0032]

[ I=(f(x)=2x+4)]
2=(f(x)=15x%)

2
3= (f(x) = —;J

Ansl =

, , AnsZz[

),0:9:9,0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9,0:9.:9.0:9.:9,0:9:9.0:9:9.0:9:9,0:9:9.0:9.:9.0:0.:9.0,9:9.0:0:9.0,9:9.0:9:9,0:9.:9.0:0:9.0,9:9.0,9:9.0:9:9.0:9:0.0:9:9.0,9:9.0,0:9.0,9:9.0,9:9.0:9:9.0.9.:9.0,0.:9.0,0:¢

5
A =(1(6)=324) Ansd = J:{f‘(l):g}
.2=(f(1)='6)} 2=[f(2)=1751]

2
i
d=(f(x)=2x+4) 2=(f(x)=15x) I’i
3=(f(x)=28x"—4x—4x-1) 4=(f(x)=2x+4x) g
31 si Vs 1 1 5]
I = f(X)=_2x(3/2)_ﬂ/;+5 6= f(x)= 4 x(9/4)_5x(6/5)+5x(4/5) &
. 3x+104/x +3 M
TJ=(f(x)=16x"+24x"-8x—-18) S=|f(x)=- , , a
(3/2) 2ﬁ f
0 (f() j 0 (f() X (13x4+15)J h
. = xX)=— _ . = X)=
(3+4x) 2 @
3xt—14x"-24 3x +2x —41 X7 +24x-60 M
11=|f(x)= ; 2=|f(x)= 5 U
L X (x+3) i iIwal
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Diff02 Answers for No.13637
A=(f(x)=6x+2)

2=(f(x)=18x%)
( 4] L=((3)=81) 1=[f(2)=1740]

_| 3= f(x)=-— = =" N
Ansl = (x) 2) b Ans2 = ‘2:(“_2):%], , Ans4_[ 2= [f(1)=3] }

1
.4={f(x): (2/3)]
L x J
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1
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2=(f(x)=18x%)

2
_ o
I=(f(x)=6x+2) P
6 5 4 4 8 3 9 2 V
3=(f(x)=7x +30x +20x +6x) A4=|f(x)=x —gx —gx S
5 3 1 2 2 34k LLs
S= f(x):2+2x(3/2)—2ﬁ 6= f(X)z_Sx(4/3)+3x(l/3)_3x(5/3)+ 2 __f;__
A = -3x+2+10
ns3 7=(f(x)=18x+9x—3) .8=[f(x)=— - ﬁj S
24/x t
0 (f( : 34 ] 10200 5x-2 h
U= X)=—"7" " . = X)=
(-5+3x) 20 %
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Diff02 Answers for No.14015

[ 1=(f(x)=2x-2)]
— _ 2
.2-—(f(x)—-18§ ) 1=(f(5)=225) [ 122}
Ansl = -3=(f(x)=——2], . Ans2 = ( i)’ st | 1= T =7
X 2=1(3)=
5 27 2=[f(2)=439]
A4 = f = —
| ((x) 2&}

2=(f(x)=18x%)

R
_ o
A=(f(x)=2x-2) P
3=(f(x)=12x+4x +6x* - 1) 4= f(x)—§x4—x+§ g
T B T 4 4 S
1 5 4 5 4 1 LLS 1l
D= f(X)=2«/;_3+2x(3/2) 6= f(X):_5x(9/5)_4x(9/4)+5x(1/5)_Sx(6/5) __f/c[__
= 3x+2+6
AnS3 =1 7 (f(x)=80 X"+ 123 X+ 56 x + 10) .8=[f(x)= ad ﬁ] S A
24/x ‘
0 (f( : 13 J 1= 200 36x° — 1 h
Y= X)=—""= 0= x)=—""T"—
(2x+1) 7,0 %
6x +16x" -3 x—24 —8x —54x"—86x" +65x"+120 x U
A= f(x)= ; 2= f(x)= ;
L X (x+3) ] LL T 1]
B
.
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